241 T R-=0)
BB NE. =2 NS 0 &k 24 ;ﬁigj Hns2
200 Xr2&EXs 15,253,895| 14,044,335 1,209,560
230 SEAAFHS 4,140,895 2,694,335 1,446,560
234 5= 4,137,895 2,643,335 1,494,560
401 AlEHILE20HY| 4,137,895 2,643,335 1,494,560
401-01 (Al&HI) 4,123,000 2,624,388 1,498,612
0 ARD AR EAAY
134,000,000& X 6JH A~ 800,000 600,000
0 ZASH AN HUIAY
{,000,0008 X 10094 100,000
0 HI® PRI RAH(SIILH )
800,000& X 130JH A~ 100,000 80,000
02T =T BAHSIIC)
1,887,000 X 430JH A~ 800,000 451,188
0 SAEAIE S (SO}
400,000& X 300JH A~ 120,000 50,000
0 A4T SXZE HISH 8Y
20,0008 X 150 3,000 3,000
0 SET B S 5HA LSBDHBA
340,000& X 2,350m 800,000 400,000
0 HET HUS(HHE) 5B DHTA
500,000& X 800m 400,000 300,200
0 BHAE BRI o SETA
66,700,000 X 3M A 200,000 175,000
0 LEHAE DA Y CHOR FHHIZA
500,000& X 200JH 2~ 100,000 50,000
0 MAT AIEES GIS DB PEEY
50,000,000 X 14! 50000 65,000
0 ABHE HUl HXBA
2,500,000& X 20002 50,000 50,000
0 LESAATE NEDA
108,000 X 3,706m 400,000
0 BHE 247 IFTA
29,851& X 67m 200,000
401-03 (Al E2C0HY]) 14,895 18,947 N\4,052
0 AND MAT AR TEAY
2,000,0002 2,000 4320
0 ZASH AN HUIAY
100,000,000 X 0.9% 900




(234) = 241 CEER-E))
BB, NE. = NS 04l o ;ﬁigj MimEEY
o HIA 28I BAH(CSHIEA )
100,000,000® X 0.9% 900 576
0 23Fa 57 SAHSIIAS)
2,000,000& 2,000 3,249
0 FEA B (SHIIAHS)
120,000,000% X 0.72% 865 360
o EA 50t S 5L S 2NHBA
2,000,000& 2,000 2,880
0 EAP HYS -SANHIA
1,000,000 1,000 2,162
o 2LAHZ L SEIA
200,000,0002 X 0.72% 1,440 1,260
0 L2 MEE DM ¥ SHEI ZHHISA
100,000,000® X 0.9% 900 450
0 ASIA HH| HXBA
50,000,0002 X 0.9% 450 450
o LEASTZ NEBA
1,000,000 1,000
0 3FES 7Y ZEFEM
200,000,0002 X 0.72% 1,440
236 XtaF2et7 3,000 51,000]  A48,000
405 XHAHEISHIS 3,000 51,000]  A48,000
405-01 (KHat SHI) 3,000 51,000 £\48,000
0 MU AAST=HI|
3,000,000 X 1CH 3,000
0 HIDISEHIRAHS 11,113,000/  11,350,000| 237,000
261 HAEZQIXFA 11,113,000/  11,350,000| 237,000
401 AlEHIL 2] 11,023,000/  11,200,000| A 177,000
401-01 (Al&HI) 10,000,000/  10,177,000| A 177,000
0 HSSBIAIY 28(== A52Y FHY|)
10,000, 000,000 10,000,000 10,177,000
401-02 (Z2ltl) 1,000,000f 1,000,000 0
0 HSSBIAIY 28(== A52Y FHY|)
1,000,000,000&4 X 14! 1,000,000
401-03 (AIE=20H8l) 23,000 23,000 0
0 HSSBIAIY 28(== H452Y FHY|)
10,000,000,000® X 0.23% 23,000 23,000
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